Nonlinear Functional Analysis and Applications Vol. 30, No. 2 (2025), pp. 587-600 ISSN: 1229-1595(print), 2466-0973(online)

https://doi.org/10.22771/nfaa.2025.30.02.17 http://nfaa.kyungnam.ac.kr/journal-nfaa



EQUILIBRIUM SOLUTION IN QUEUING GAMES PLAYED ON 3×3 -GRID

Ali M. Almuntaser¹, R. M. Salem², Essam El-Seidy³, H. Nabiel⁴ and Emad J. Ebrahim⁵

¹Department of Mathematics, Faculty of Science Al-Azhar University, Cairo, Egypt e-mail: alimun2520@gmail.com

²Department of Mathematics, Faculty of Science Al-Azhar University, Cairo, Egypt e-mail: rsalem_02@hotmail.com

³Department of Mathematics, Faculty of Science Ain Shams University, Cairo, Egypt e-mail: esam_ elsedy@hotmail.com

⁴Department of Mathematics, Faculty of Science Al-Azhar University, Cairo, Egypt e-mail: hnabiel@azhar.edu.eg

⁵Faculty of Computer Science, Misr International University (MIU), Cairo, Egypt e-mail: 5emad_j_ibahim@yahoo.co.uk

Abstract. In this paper, we study the existence of equilibrium play in a specific class of queuing game played on a 3×3 -gird as non-cooperative 2-players game. In this game, both players compete to select, from a set of paths available for each player, just one path to use for their customers and exit from the grid after getting the required service as soon as possible. Every node in this grid is a M/M/1 queue with different service rates. We discuss the existence of equilibrium strategies in two cases: first case, both players can share the same entering and ending nodes. Second case, both players cannot share the same entering and ending nodes. We compute the pay-off matrices for both players in two cases. Using a numerical calculation, we find the best reply and the equilibrium strategies for both players if they have equal or unequal arrival rates. Also, the equilibrium play studied in which there is a relation between these rates in this queuing game.

⁰Received October 14, 2024. Revised November 8, 2024. Accepted November 16, 2024. ⁰2020 Mathematics Subject Classification: 60K20, 91A43, 60K25, 91A10.

²2020 Mathematics Subject Classification: 60K20, 91A43, 60K25, 91A10.

 $^{^0{\}rm Keywords}:$ Nash equilibrium, pure-strategy Nash equilibrium, non-cooperative games, queuing games, networks of queues.

⁰Corresponding author: Ali M. Almuntaser(alimun2520@gmail.com).

1. INTRODUCTION

In the long history of operations research, the queueing theory has been applied. Studying the dynamics of different service systems with constrained resources, like computer systems, communication networks, industrial systems, and transportation systems, can be greatly aided by it. The phenomenon of customer competition for scarce service resources is common in queueing systems. As a result, the idea of game theory offers a promising line of inquiry for queueing theory. A finite number of independent players, each optimizing a different objective function, often determine the state of a system. Noncooperative games provide an appropriate framework for investigating such decentralized systems. Determining the conditions under which a Nash equilibrium in pure strategies can occur is one of the main objectives of game theory. For finite non-cooperative games, it is generally known that a Nash equilibrium in mixed strategies exists; however, this does not always necessary to a Nash equilibrium in pure strategies [1, 2, 17, 18, 20].

While game theory is used in communication networks to create the best routing algorithms, queueing theory is used in security to describe the stochastic elements of interdiction games. [7, 10, 14]. For several decades, queueing systems in terms of player equilibrium behavior have attracted increasing attention due to their applicability in many aspects. Naor [16] in 1969, pioneered the study of equilibrium and social optimal methods for the joining-balking problem in an M/M/1 queue with a basic linear reward-cost structure. Kelly [12] examines a queueing game in which Braess' dilemma occurs on a network of queue. Several publications in the literature incorporate models from queueing theory and game theory. The game theoretic analysis of queueing systems, which began with Naor's groundbreaking work, has attracted a lot of interest in the literature [3, 4, 8, 9, 11, 23]. Many researchers were worked on equilibrium solutions in queuing games [6, 5, 21, 22], the existence of this solution in which the arrival rates for players are equal was discussed in [13].

In this paper, we study the equilibrium play in a specific class of queuing game played on a 3×3 -gird as a non-cooperative 2-players game. The players in this game compete to select, from a set of paths available (strategies) for each player, just one path to use for their customers and exit from the grid after getting the required service as soon as possible. Every node in this grid is a M/M/1 queue with different service rates and with equals or different arrival rate. We discuss the existence of equilibrium strategies in case that both players can share the same entering and ending nodes and can't share the entering and ending nodes. We drive the sufficient conditions for the existence of the equilibrium strategies for both players using the best respond algorithm and compute the pay-off matrices for both players. Using numerical calculations, we find the dominant strategies, best reply and the equilibrium strategies for both players if they have equal and un-equal arrival rates.

The remainder of this paper is organized as follows. In Section 2 we introduce an overview on traditional concept in game theory which is noncooperative games on networks. In Section 3 we list the possible strategies of players and compute the payoff matrices in two cases. First, both players can share the entering and ending nodes with either equal service rates or different service rates of every node in this grid. Second case, both players have different entering and ending nodes, also the player must exit from the opposite side of the entering node and with either equal service rates or different service rates of every node in this grid. The sufficient conditions for the equilibrium solution in these cases of the given game discussed in section 4. In section 5, the equilibrium play studied in which there is a relation between the service rates of all nodes in this grid, and also there is a relation between the arrival rates of both players.

2. Model description

We consider a game of two players where the players are competing on a grid of form 3×3 . Each player has finite paths and he must select one path to use for his customers to get the required service as soon as possible. Assuming that the arrival process of customers for player 1 and player 2 is a Poisson process with different arrival rates $\lambda^{(1)}, \lambda^{(2)}$ respectively. The strategies of both players are a set of different paths along the grid starting at a fixed entering node and ending on the opposite side of the grid at a fixed node. Each path must contain a minimum number of nodes which required to move from the entering node to the ending node. Each node in this grid is M/M/1queue with a different service rate and FCFO queue discipline. At node *i* of the grid, the mean sojourn time is given by $\frac{1}{\mu_i - \lambda_i}$ where λ_i is the rate of arrivals to this node. The goal of each player is to minimize the mean sojourn time of its customers using a suitable path. Since each player must choose one path to route his customer, the strategy space will be discrete, which means that the player will choose a specific path with probability 1 and the other paths with probability 0. In this situation, a strategy (available paths for player) of both players can be represented by a vector

$$S^{(j)} = (s_1^{(j)}, s_2^{(j)}, s_3^{(j)}, s_k^{(j)}),$$

where j = 1, 2 and k the number of paths available for players. If we denote by $S = (S^{(1)}, S^{(2)})$ to the strategy profile for both players, depending on the previous assumptions, the pay-off function for both players is given by:

$$\pi^{(j)} = \sum_{i \in S^{(j)}} \frac{1}{\mu_i - \lambda^{(j)}} + \sum_{i \in (S^{(1)} \cap S^{(2)})} \frac{1}{\mu_i - (\lambda^{(1)} + \lambda^{(2)})}, j = 1, 2.$$
(2.1)

And for at each node in this grid, the inequality $\lambda^{(1)} + \lambda^{(2)} < \min(\mu_i)$ must hold.

3. Strategies of Players in 3×3 -grid

The following two scenarios allow for the analysis of the players' strategies in this game:

Case 1: We suppose that the players will share the entering and ending node Figure (1). Also, players should select just the shortest path from entering node to ending node, in this case each path will contain just five nodes, therefore player 1 and player 2 will have the same six different paths from node a to node k. these paths represent the strategies of both players and given by:

$$\begin{split} S_1^{(1)} &= S_1^{(2)} = \{a, b, c, f, k\}, \\ S_2^{(1)} &= S_2^{(2)} = \{a, b, e, f, k\}, \\ S_3^{(1)} &= S_3^{(2)} = \{a, b, e, h, k\}, \\ S_4^{(1)} &= S_4^{(2)} = \{a, d, e, h, k\}, \\ S_5^{(1)} &= S_5^{(2)} = \{a, d, e, f, k\}, \\ S_6^{(1)} &= S_6^{(2)} = \{a, d, g, h, k\}. \end{split}$$



FIGURE 1. Grid of Case 1

If we set $\lambda = \lambda^{(1)} + \lambda^{(2)}$, the payoff matrix of player j when he plays with strategy $S_k^{(j)}$ against player 2 when he plays with strategy $S_k^{(j)}$, where j = 1, 2, k = 1, 2, 3, 4, 5, 6, given by table 1 and table 2 respectively.

	S ⁽²⁾	S ⁽²⁾	S ⁽²⁾	S ⁽²⁾	S ⁽²⁾	S ⁽²⁾
	51	52	1 1	1 1	<i>4</i> 5	5
S ₁ ⁽¹⁾	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda}\\ &+\frac{1}{\mu_c-\lambda}+\frac{1}{\mu_f-\lambda}\\ &+\frac{1}{\mu_k-\lambda}\end{aligned}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda}\\ &+\frac{1}{\mu_c-\lambda^{(1)}}\\ &+\frac{1}{\mu_f-\lambda}+\frac{1}{\mu_k-\lambda}\end{aligned}$	$\frac{\overline{\mu_a - \lambda} + \overline{\mu_b - \lambda}}{+ \frac{1}{\mu_c - \lambda^{(1)}}} + \frac{1}{\mu_f - \lambda^{(1)}} + \frac{1}{\frac{1}{\mu_k - \lambda}}$	$\frac{\overline{\mu_{\alpha} - \lambda} + \overline{\mu_{b} - \lambda^{(1)}}}{+ \frac{1}{\mu_{c} - \lambda^{(1)}}} + \frac{1}{\mu_{f} - \lambda^{(1)}} + \frac{1}{\frac{1}{\mu_{k} - \lambda}}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda^{(1)}}\\ &+\frac{1}{\mu_c-\lambda^{(1)}}\\ &+\frac{1}{\mu_f-\lambda}+\frac{1}{\mu_k-\lambda}\end{aligned}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda^{(1)}}\\ &+\frac{1}{\mu_c-\lambda^{(2)}}\\ &+\frac{1}{\mu_f-\lambda^{(1)}}+\frac{1}{\mu_k-\lambda} \end{aligned}$
$S_2^{(1)}$	$\begin{aligned} \frac{1}{\mu_a - \lambda} + & \frac{1}{\mu_b - \lambda^{(1)}} \\ + & \frac{1}{\mu_e - \lambda} + & \frac{1}{\mu_f - \lambda} \\ + & \frac{1}{\mu_k - \lambda} \end{aligned}$	$\begin{aligned} \frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} \\ + \frac{1}{\mu_e - \lambda} + \frac{1}{\mu_f - \lambda} \\ + \frac{1}{\mu_k - \lambda} \end{aligned}$	$\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} + \frac{1}{\mu_b - \lambda} + \frac{1}{\mu_f - \lambda^{(1)}} + \frac{1}{\mu_f - \lambda}$	$\frac{1}{\mu_{\alpha} - \lambda} + \frac{1}{\mu_{b} - \lambda^{(1)}} + \frac{1}{\mu_{f} - \lambda} + \frac{1}{\mu_{f} - \lambda^{(1)}} + \frac{1}{\mu_{f} - \lambda^{(1)}} + \frac{1}{\mu_{b} - \lambda}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda^{(1)}}\\ &+\frac{1}{\mu_e-\lambda}+\frac{1}{\mu_f-\lambda}\\ &+\frac{1}{\mu_k-\lambda}\end{aligned}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda^{(1)}}\\ &+\frac{1}{\mu_e-\lambda^{(1)}}\\ &+\frac{1}{\mu_f-\lambda^{(1)}}+\frac{1}{\mu_k-\lambda}\end{aligned}$
S ₃ ⁽¹⁾	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda}}{+ \frac{1}{\mu_e - \lambda^{(1)}}} \\ + \frac{1}{\mu_h - \lambda^{(1)}} \\ + \frac{1}{\mu_k - \lambda}$	$\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} + \frac{1}{\mu_b - \lambda} + \frac{1}{\mu_h - \lambda^{(1)}} + \frac{1}{\mu_h - \lambda}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda}\\ &+\frac{1}{\mu_b-\lambda}+\frac{1}{\mu_h-\lambda}\\ &+\frac{1}{\mu_k-\lambda}\end{aligned}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda^{(1)}}\\ &+\frac{1}{\mu_e-\lambda}+\frac{1}{\mu_h-\lambda}\\ &+\frac{1}{\mu_k-\lambda} \end{aligned}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda^{(1)}}}{+ \frac{1}{\mu_b - \lambda}} + \frac{1}{\frac{1}{\mu_h - \lambda^{(1)}}} + \frac{1}{\frac{1}{\mu_h - \lambda}}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda^{(1)}}\\ &+\frac{1}{\mu_e-\lambda^{(1)}}+\frac{1}{\mu_h-\lambda}\\ &+\frac{1}{\mu_k-\lambda} \end{aligned}$
S ₄ ⁽¹⁾	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_d-\lambda^{(1)}}\\ &+\frac{1}{\mu_e-\lambda^{(1)}}\\ &+\frac{1}{\mu_h-\lambda^{(1)}}\\ &+\frac{1}{\mu_k-\lambda}\end{aligned}$	$\begin{aligned} \frac{1}{\mu_a-\lambda} + & \frac{1}{\mu_d-\lambda^{(1)}} \\ + & \frac{1}{\mu_e-\lambda} \\ + & \frac{1}{\mu_h-\lambda^{(1)}} \\ + & \frac{1}{\mu_k-\lambda} \end{aligned}$	$\begin{aligned} \frac{1}{\mu_a-\lambda} + \frac{1}{\mu_d-\lambda^{(1)}} \\ + \frac{1}{\mu_k-\lambda} + \frac{1}{\mu_h-\lambda} \\ + \frac{1}{\mu_k-\lambda} \end{aligned}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_d-\lambda}\\ &+\frac{1}{\mu_e-\lambda}+\frac{1}{\mu_h-\lambda}\\ &+\frac{1}{\mu_k-\lambda}\end{aligned}$	$\begin{aligned} &\frac{1}{\mu_{\alpha}-\lambda}+\frac{1}{\mu_{d}-\lambda}\\ &+\frac{1}{\mu_{e}-\lambda}\\ &+\frac{1}{\mu_{h}-\lambda^{(1)}}\\ &+\frac{1}{\mu_{k}-\lambda}\end{aligned}$	$\begin{aligned} \frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda} \\ + \frac{1}{\mu_e - \lambda^{(1)}} + \frac{1}{\mu_h - \lambda} \\ + \frac{1}{\mu_k - \lambda} \end{aligned}$
S ₅ ⁽¹⁾	$\begin{aligned} \frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda^{(1)}} \\ + \frac{1}{\mu_e - \lambda^{(1)}} \\ + \frac{1}{\mu_f - \lambda} + \frac{1}{\mu_k - \lambda} \end{aligned}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_d-\lambda^{(1)}}\\ &+\frac{1}{\mu_e-\lambda}+\frac{1}{\mu_f-\lambda}\\ &+\frac{1}{\mu_k-\lambda} \end{aligned}$	$\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda^{(1)}} + \frac{1}{\mu_{\mu} - \lambda} + \frac{1}{\mu_{f} - \lambda^{(1)}} + \frac{1}{\mu_{h} - \lambda}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda}}{+ \frac{1}{\mu_f - \lambda}} + \frac{1}{\frac{\mu_f - \lambda}{\mu_f - \lambda^{(1)}}} + \frac{1}{\frac{\mu_k - \lambda}{\mu_k - \lambda}}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_d-\lambda}\\ &+\frac{1}{\mu_e-\lambda}+\frac{1}{\mu_f-\lambda}\\ &+\frac{1}{\mu_k-\lambda}\end{aligned}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_d-\lambda}\\ &+\frac{1}{\mu_\ell-\lambda^{(1)}}\\ &+\frac{1}{\mu_f-\lambda^{(1)}}+\frac{1}{\mu_k-\lambda}\end{aligned}$
S ₆ ⁽¹⁾	$\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda^{(1)}} + \frac{1}{\mu_g - \lambda^{(1)}} + \frac{1}{\mu_h - \lambda^{(1)}} + \frac{1}{\mu_h - \lambda}$	$\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda^{(1)}} + \frac{1}{\mu_g - \lambda^{(1)}} + \frac{1}{\mu_h - \lambda^{(1)}} + \frac{1}{\mu_h - \lambda}$	$\begin{aligned} \frac{1}{\mu_a-\lambda} + \frac{1}{\mu_d-\lambda^{(1)}} \\ + \frac{1}{\mu_g-\lambda^{(1)}} \\ + \frac{1}{\mu_h-\lambda} + \frac{1}{\mu_k-\lambda} \end{aligned}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_d-\lambda}\\ &+\frac{1}{\mu_g-\lambda^{(1)}}\\ &+\frac{1}{\mu_h-\lambda}+\frac{1}{\mu_k-\lambda}\end{aligned}$	$\frac{1}{\mu_{\alpha} - \lambda} + \frac{1}{\mu_{\alpha} - \lambda} + \frac{1}{\mu_{\alpha} - \lambda} + \frac{1}{\mu_{\beta} - \lambda^{(1)}} + \frac{1}{\mu_{h} - \lambda^{(1)}} + \frac{1}{\mu_{h} - \lambda}$	$\begin{aligned} &\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_d-\lambda}\\ &+\frac{1}{\mu_g-\lambda}+\frac{1}{\mu_k-\lambda}\\ &+\frac{1}{\mu_k-\lambda} \end{aligned}$

Table 1 : Payoff matrix of player 1 for Case 1.

	S ₁ ⁽¹⁾	S ₂ ⁽¹⁾	S ₃ ⁽¹⁾	S ₄ ⁽¹⁾	S ₅ ⁽¹⁾	S ₆ ⁽¹⁾
S ₁ ⁽²⁾	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} +}{\frac{1}{\mu_c - \lambda} + \frac{1}{\mu_f - \lambda} +}{\frac{1}{\mu_k - \lambda}}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} +}{\frac{1}{\mu_c - \lambda^{(2)}} +} \\ \frac{1}{\mu_f - \lambda} + \frac{1}{\mu_k - \lambda}$	$\begin{aligned} \frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} + \\ \frac{1}{\mu_c - \lambda^{(2)}} + \\ \frac{1}{\mu_f - \lambda^{(2)}} + \frac{1}{\mu_k - \lambda} \end{aligned}$	$\frac{\frac{1}{\mu_a - \lambda} +}{\frac{1}{\mu_b - \lambda^{(2)}} +} \\ \frac{\frac{1}{\mu_c - \lambda^{(2)}} +}{\frac{1}{\mu_f - \lambda^{(2)}} + \frac{1}{\mu_k - \lambda}}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda^{(2)}} + }{\frac{1}{\mu_c - \lambda^{(2)}} + \frac{1}{\mu_f - \lambda} + \frac{1}{\mu_k - \lambda}}$	$\begin{aligned} \frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda^{(2)}} + \\ \frac{1}{\mu_c - \lambda^{(2)}} + \\ \frac{1}{\mu_f - \lambda^{(2)}} + \frac{1}{\mu_k - \lambda} \end{aligned}$
S ₂ ⁽²⁾	$\frac{\frac{1}{\mu_{a}-\lambda} +}{\frac{1}{\mu_{b}-\lambda^{(2)}} +} + \frac{\frac{1}{\mu_{b}-\lambda^{(2)}} +}{\frac{1}{\mu_{e}-\lambda} + \frac{1}{\frac{1}{\mu_{k}-\lambda}} +}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} +}{\frac{1}{\mu_e - \lambda} + \frac{1}{\mu_f - \lambda} +}{\frac{1}{\mu_k - \lambda}}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} +}{\frac{1}{\mu_e - \lambda} +} \\ \frac{1}{\mu_f - \lambda^{(2)}} + \frac{1}{\mu_k - \lambda}$	$\frac{\frac{1}{\mu_a - \lambda} +}{\frac{1}{\mu_b - \lambda^{(2)}} +} \\ \frac{\frac{1}{\mu_e - \lambda}}{\frac{1}{\mu_f - \lambda^{(2)}} + \frac{1}{\mu_k - \lambda}}$	$\frac{\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda^{(2)}}+}{\frac{1}{\mu_e-\lambda}+\frac{1}{\mu_f-\lambda}+}{\frac{1}{\mu_k-\lambda}}$	$\begin{aligned} \frac{1}{\mu_a-\lambda} + \frac{1}{\mu_b-\lambda^{(2)}} + \\ \frac{1}{\mu_e-\lambda^{(2)}} + \\ \frac{1}{\mu_f-\lambda^{(2)}} + \frac{1}{\mu_k-\lambda} \end{aligned}$
S ₃ ⁽²⁾	$\begin{aligned} \frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} + \\ \frac{1}{\mu_a - \lambda^{(2)}} + \\ \frac{1}{\mu_h - \lambda^{(2)}} + \frac{1}{\mu_k - \lambda} \end{aligned}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} +}{\frac{1}{\mu_e - \lambda} +} \\ \frac{1}{\mu_h - \lambda^{(2)}} + \frac{1}{\mu_k - \lambda}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} +}{\frac{1}{\mu_e - \lambda} + \frac{1}{\mu_h - \lambda} +}{\frac{1}{\mu_k - \lambda}}$	$\frac{\frac{1}{\mu_a - \lambda} +}{\frac{1}{\mu_b - \lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_e - \lambda} + \frac{1}{\mu_h - \lambda}} + \frac{1}{\frac{1}{\mu_k - \lambda}} +$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda^{(2)}} + }{\frac{1}{\mu_e - \lambda} + \frac{1}{\frac{\mu_h - \lambda^{(2)}}{\mu_k - \lambda}} + $	$\frac{\frac{1}{\mu_a-\lambda}+\frac{1}{\mu_b-\lambda^{(2)}}+}{\frac{1}{\mu_e-\lambda^{(2)}}+\frac{1}{\mu_h-\lambda}+}{\frac{1}{\mu_k-\lambda}}$
S ₄ ⁽²⁾	$\frac{\frac{1}{\mu_d - \lambda} +}{\frac{1}{\mu_d - \lambda^{(2)}} +} + \frac{\frac{1}{\mu_d - \lambda^{(2)}} +}{\frac{1}{\mu_h - \lambda^{(2)}} + \frac{1}{\mu_h - \lambda}}$	$\frac{\frac{1}{\mu_d - \lambda} +}{\frac{1}{\mu_d - \lambda^{(2)}} +} + \frac{\frac{1}{\mu_e - \lambda}}{\frac{1}{\mu_h - \lambda^{(2)}} + \frac{1}{\mu_h - \lambda}}$	$\frac{\frac{1}{\mu_{d}-\lambda} +}{\frac{1}{\mu_{d}-\lambda^{(2)}} +}{\frac{1}{\mu_{e}-\lambda} + \frac{1}{\frac{1}{\mu_{k}-\lambda}} +}$	$\frac{\frac{1}{\mu_{a}-\lambda}+\frac{1}{\mu_{d}-\lambda}+}{\frac{1}{\mu_{e}-\lambda}+\frac{1}{\mu_{h}-\lambda}+}$	$\frac{\frac{1}{\mu_d - \lambda} + \frac{1}{\mu_d - \lambda} +}{\frac{1}{\mu_e - \lambda} + \frac{1}{\frac{\mu_h - \lambda^{(2)}}{\mu_k - \lambda}} +}$	$\frac{\frac{1}{\mu_{a}-\lambda}+\frac{1}{\mu_{d}-\lambda}+}{\frac{1}{\mu_{e}-\lambda^{(2)}}+\frac{1}{\mu_{h}-\lambda}+}{\frac{1}{\mu_{k}-\lambda}}$
S ₅ ⁽²⁾	$\begin{aligned} \frac{\frac{1}{\mu_{a}-\lambda}+}{\frac{1}{\mu_{d}-\lambda^{(2)}}+} \\ \frac{1}{\frac{1}{\mu_{e}-\lambda^{(2)}}+} \\ \frac{1}{\frac{1}{\mu_{f}-\lambda}+\frac{1}{\mu_{k}-\lambda}} \end{aligned}$	$\frac{\frac{1}{\mu_{a}-\lambda} +}{\frac{1}{\mu_{a}-\lambda^{(2)}} +}{\frac{1}{\mu_{e}-\lambda} + \frac{1}{\mu_{f}-\lambda} +}{\frac{1}{\mu_{k}-\lambda}}$	$\begin{aligned} \frac{\frac{1}{\mu_a - \lambda} +}{\frac{1}{\mu_d - \lambda^{(2)}} +} \\ \frac{\frac{1}{\mu_e - \lambda}}{\frac{1}{\mu_e - \lambda} +} \\ \frac{1}{\mu_f - \lambda^{(2)}} + \frac{1}{\mu_k - \lambda} \end{aligned}$	$\frac{\frac{1}{\mu_{a}-\lambda}+\frac{1}{\mu_{d}-\lambda}+}{\frac{1}{\mu_{e}-\lambda}+}{\frac{1}{\mu_{f}-\lambda^{(2)}}+\frac{1}{\mu_{k}-\lambda}}$	$\frac{\frac{1}{\mu_d - \lambda} + \frac{1}{\mu_d - \lambda} +}{\frac{1}{\mu_e - \lambda} + \frac{1}{\mu_f - \lambda} +}{\frac{1}{\mu_k - \lambda}}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda} +}{\frac{1}{\mu_e - \lambda^{(2)}} +} \\ \frac{1}{\mu_f - \lambda^{(2)}} + \frac{1}{\mu_k - \lambda}$
S ₆ ⁽²⁾	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda^{(2)}} + \frac{1}{\mu_g - \lambda^{(2)}} + $	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda^{(2)}} + $	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda^{(2)}} + \frac{1}{\mu_g - \lambda^{(2)}} + \frac{1}{\mu_g - \lambda^{(2)}} + \frac{1}{\mu_g - \lambda} + \frac{1}{\mu_g - \lambda}$	$\frac{\frac{1}{\mu_{a}-\lambda}+\frac{1}{\mu_{d}-\lambda}+}{\frac{1}{\mu_{g}-\lambda^{(2)}}+}{\frac{1}{\mu_{h}-\lambda}+\frac{1}{\mu_{k}-\lambda}}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda} + \frac{1}{\frac{1}{\mu_g - \lambda^{(2)}} + \frac{1}{\frac{1}{\mu_h - \lambda^{(2)}} + \frac{1}{\mu_k - \lambda}}$	$\frac{\frac{1}{\mu_{a}-\lambda}+\frac{1}{\mu_{d}-\lambda}+}{\frac{1}{\mu_{g}-\lambda}+\frac{1}{\mu_{h}-\lambda}+}{\frac{1}{\mu_{k}-\lambda}}$

Table 2 : Payoff matrix of player 2 for Case 1.

Example 3.1. (Payoff matrix with identical service rates) If we suppose that each node in this network have the same service rate ($\mu_i = 4$) for all node *i* in the grid, and the arrival rate for both players given by $\lambda^{(1)} = 2, \lambda^{(2)} = 1$ such that $\lambda < 4$. The payoff matrix for both players in this case is given by:

	$S_{1}^{(2)}$	$S_2^{(2)}$	$S_{3}^{(2)}$	$S_{4}^{(2)}$	$S_{5}^{(2)}$	$S_{6}^{(2)}$
S ₁ ⁽¹⁾	(5,5)	(4.5,4.3)	(4,3.67)	(3.5,3)	(4,3.67)	(3.5,3)
$S_{2}^{(1)}$	(4.5,4.3)	<mark>(</mark> 5,5)	(4.5,4.3)	(4,3.67)	(4.5,4.3)	(3.5,3)
$S_{3}^{(1)}$	(4,3.67)	(4.5,4.3)	(5,5)	(4.5,4.3)	(4,3.67)	(4,3.67)
$S_{4}^{(1)}$	(3.5,3)	(4,3.67)	(4.5,4.3)	(5,5)	(4.5,4.3)	(4.5,4.3)
S ₅ ⁽¹⁾	(4,3.67)	(4.5,4.3)	(4,3.67)	(4.5,4.3)	(5,5)	(4,3.67)
$S_{6}^{(1)}$	(3.5,3)	(3.5,3)	(4,3.67)	(4.5,4.3)	(4,3.67)	<mark>(</mark> 5,5)

Table 3: Payoff matrix with identical service rates of Case 1

Example 3.2. (Payoff matrix with different service rates) If we suppose that each node in this network have the following service rate ($\mu_a = \mu_b = \mu_e = \mu_k = 5, \mu_c = \mu_g = \mu_d = \mu_f = \mu_h = 4$), $\lambda^{(1)} = 2, \lambda^{(2)} = 1$, where $\lambda < max(\mu_i)$ for all node *i* in the grid. The payoff matrix for both players in this case is given by :

	$S_1^{(2)}$	$S_2^{(2)}$	$S_{3}^{(2)}$	$S_{4}^{(2)}$	$S_{5}^{(2)}$	$S_{6}^{(2)}$
$S_{1}^{(1)}$	(3.5,3)	(3,2.3)	(2.5,2.08)	(2.3,1.83)	(2.8,2.08)	(2.3,1.83)
$S_{2}^{(1)}$	(2.8,2.25)	(3,2.5)	(2.5,2.25)	(2.3,2)	(2.8,2.25)	(2.17,1.75)
$S_{3}^{(1)}$	(2.3,2.08)	(2.5,2.3)	(3,3)	(2.8,2.75)	(2.3,2.08)	(2.67,2.5)
$S_{4}^{(1)}$	(2.3,1.91)	(2.5,2.17)	(3,2.83)	(3.5,3.5)	(3,2.83)	(3.3,3.25)
$S_{5}^{(1)}$	(2.8,2.08)	(3,2.3)	(2.5,2.08)	(3,2.75)	(3.5,3)	(2.8,2.5)
$S_{6}^{(1)}$	(2.5,2)	(2.5,2)	(3,2.67)	(3.5,3.3)	(3,2.67)	(4,4)

Table 4 : Payoff matrix with different service rates of Case 1.

Case 2: In this case, the players have different entering and ending node Figure 2. Also, players should select just the shortest path from entering node to the ending node, in this case each path will contain just five nodes. If the entering node of player 1 is node a and the ending node is node k, then this player will have 6 different paths which represent the strategies of player 1 given by:

$$S_1^{(1)} = \{a, b, c, f, k\}, S_2^{(1)} = \{a, b, e, f, k\}, S_3^{(1)} = \{a, b, e, h, k\},$$
$$S_4^{(1)} = \{a, d, e, h, k\}, S_5^{(1)} = \{a, d, e, f, k\}, S_6^{(1)} = \{a, d, g, h, k\}.$$



FIGURE 2. Grid of Case 2

If we assume that player 2's starting node is node c and that player 2's ending node is node g, then this player will also have six different paths that correspond to the following player 2 strategies:

$$S_1^{(2)} = \{a, b, c, f, k\}, S_2^{(2)} = \{a, b, e, f, k\}, S_3^{(2)} = \{a, b, e, h, k\},$$
$$S_4^{(2)} = \{a, d, e, h, k\}, S_5^{(2)} = \{a, d, e, f, k\}, S_6^{(2)} = \{a, d, g, h, k\}.$$

Using the same assumption of case 1 which is $\lambda = \lambda^{(1)} + \lambda^{(2)}$, the payoff matrix of player 1 and player 2 given by Table 5 and table 6 respectively.

	S ₁ ⁽²⁾	S ₂ ⁽²⁾	S ₃ ⁽²⁾	$S_{4}^{(2)}$	S ₅ ⁽²⁾	S ₆ ⁽²⁾
S ₁ ⁽¹⁾	$\frac{\frac{1}{\mu_d=\lambda^{(1)}}+\frac{1}{\mu_b=\lambda^{(1)}}+}{\frac{1}{\mu_f-\lambda}+\frac{1}{\mu_f-\lambda}+}$	$\begin{aligned} &\frac{\frac{1}{\mu_{a-\lambda}(i)}+}{\frac{1}{\mu_{b-\lambda}(i)}+\frac{1}{\mu_{e-\lambda}}+}\\ &\frac{1}{\mu_{f-\lambda}}+\frac{1}{\mu_{k-\lambda}(i)}\end{aligned}$	$\begin{aligned} \frac{\frac{1}{\mu_a-\lambda^{(1)}}+}{\frac{1}{\mu_b-\lambda^{(1)}}+}\\ \frac{1}{\mu_c-\lambda}+\frac{1}{\mu_{f}-\lambda}+\\ \frac{1}{\mu_k-\lambda^{(1)}}\end{aligned}$	$\frac{\frac{1}{\mu_a-\lambda^{(1)}}+}{\frac{1}{\mu_b-\lambda}+\frac{1}{\mu_c-\lambda}+}{\frac{1}{\mu_f-\lambda^{(1)}}+}{\frac{1}{\mu_k-\lambda^{(1)}}}$	$\begin{array}{c} \displaystyle \frac{1}{\mu_{\alpha}-\lambda^{(1)}}+\\ \displaystyle \frac{1}{\mu_{b}-\lambda}+\frac{1}{\mu_{c}-\lambda}+\\ \displaystyle \frac{1}{\mu_{f}-\lambda^{(2)}}+\\ \displaystyle \frac{1}{\mu_{k}-\lambda^{(1)}}\end{array}$	$ \frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_b - \lambda} +}{\frac{1}{\mu_c - \lambda} +} \\ \frac{1}{\mu_{r} - \lambda} + \frac{1}{\mu_{r} + \lambda^{(1)}} +}{\frac{1}{\mu_k - \lambda^{(1)}}} $
S ₂ ⁽¹⁾	$\frac{\frac{1}{\mu_a \sim \lambda^{(1)}} + \frac{1}{\mu_b \sim \lambda^{(1)}} + }{\frac{1}{\mu_e \sim \lambda^{(1)}} + \frac{1}{\mu_f \sim \lambda} + }{\frac{1}{\mu_k \sim \lambda}}$	$\frac{\frac{1}{\mu_a \sim \lambda^{(1)}} +}{\frac{1}{\mu_b \sim \lambda^{(1)}} + \frac{1}{\mu_e \sim \lambda} +}{\frac{1}{\mu_f \sim \lambda} + \frac{1}{\mu_k \sim \lambda^{(1)}}}$	$ \begin{array}{c} \displaystyle \frac{1}{\mu_{a}=\lambda^{(1)}} + \\ \displaystyle \frac{1}{\mu_{b}-\lambda^{(1)}} + \\ \displaystyle \frac{1}{\mu_{e}-\lambda} + \frac{1}{\mu_{f}-\lambda} + \\ \displaystyle \frac{1}{\mu_{k}-\lambda^{(1)}} \end{array} $	$\frac{\frac{1}{\mu_a = \lambda^{(1)}} +}{\frac{1}{\mu_b = \lambda} + \frac{1}{\mu_e = \lambda}} + \frac{1}{\frac{1}{\mu_f = \lambda^{(1)}}} + \frac{1}{\frac{1}{\mu_k = \lambda^{(1)}}}$	$\frac{\frac{1}{\mu_{\alpha}=\lambda^{(1)}}+}{\frac{1}{\mu_{\beta}=\lambda}+\frac{1}{\mu_{\ell}=\lambda}}+}{\frac{1}{\frac{1}{\mu_{\ell}=\lambda^{(1)}}}+}{\frac{1}{\mu_{k}=\lambda^{(1)}}}$	$\frac{\frac{1}{\mu_{\alpha}-\lambda}+\frac{1}{\mu_{b}-\lambda}+}{\frac{1}{\mu_{d}-\lambda^{(1)}}+}$ $\frac{\frac{1}{\mu_{f}-\lambda^{(1)}}+}{\frac{1}{\mu_{k}-\lambda^{(1)}}}$
S ₃ ⁽¹⁾	$\frac{\frac{1}{\mu_{k}-\lambda^{(1)}}+\frac{1}{\mu_{k}-\lambda^{(1)}}+}{\frac{1}{\mu_{e}-\lambda^{(1)}}+\frac{1}{\mu_{k}-\lambda}}+}{\frac{1}{\mu_{k}-\lambda}}$	$\begin{array}{c} \displaystyle \frac{1}{\mu_{a}=\lambda^{(1)}}+\\ \displaystyle \frac{1}{\mu_{b}=\lambda^{(1)}}+\frac{1}{\mu_{x}=\lambda}+\\ \displaystyle \frac{1}{\mu_{b}=\lambda}+\frac{1}{\mu_{k}=\lambda^{(1)}} \end{array}$	$\frac{\frac{1}{\mu_{m-\lambda}(1)} +}{\frac{1}{\mu_{b-\lambda}(1)} +}$ $\frac{\frac{1}{\mu_{b-\lambda}(1)} +}{\frac{1}{\mu_{h-\lambda}(1)} +}$ $\frac{1}{\frac{1}{\mu_{k-\lambda}(1)}}$	$\begin{array}{c} \displaystyle \frac{1}{\mu_{a}=\lambda^{(1)}}+\\ \displaystyle \frac{1}{\mu_{b}=\lambda}+\frac{1}{\mu_{e}=\lambda}+\\ \displaystyle \frac{1}{\mu_{h}=\lambda}+\frac{1}{\mu_{k}=\lambda^{(1)}} \end{array}$	$\begin{array}{c} \displaystyle \frac{1}{\mu_{\alpha}-\lambda^{(1)}}+\\ \displaystyle \frac{1}{\mu_{b}-\lambda}+\frac{1}{\mu_{e}-\lambda}+\\ \displaystyle \frac{1}{\mu_{h}-\lambda^{(1)}}+\\ \displaystyle \frac{1}{\mu_{k}-\lambda^{(1)}}\end{array}$	$\frac{\frac{1}{\mu_{a}-\lambda}+\frac{1}{\mu_{b}-\lambda}+}{\frac{1}{\mu_{a}-\lambda^{(1)}}+}{\frac{1}{\mu_{h}-\lambda^{(1)}}+}{\frac{1}{\mu_{k}-\lambda^{(1)}}}$
S ₄ ⁽¹⁾	$\frac{\frac{1}{\mu_{d}-\lambda^{(1)}}+\frac{1}{\mu_{d}-\lambda^{(1)}}+}{\frac{1}{\mu_{d}-\lambda}}+\frac{1}{\mu_{k}-\lambda}+}{\frac{1}{\mu_{k}-\lambda}}$	$\begin{aligned} &\frac{\frac{1}{\mu_d-\lambda^{(1)}}+}{\frac{1}{\mu_d-\lambda^{(1)}}+\frac{1}{\mu_{d-\lambda}}+}\\ &\frac{1}{\mu_h-\lambda}+\frac{1}{\mu_k-\lambda^{(1)}}\end{aligned}$	$\frac{\frac{1}{\mu_{a}-\lambda^{(1)}}+}{\frac{1}{\mu_{d}-\lambda}+\frac{1}{\mu_{a}-\lambda}+\frac{1}{\mu_{b}-\lambda}+}{\frac{1}{\mu_{h}-\lambda^{(1)}}+\frac{1}{\mu_{k}-\lambda^{(1)}}}$	$\begin{aligned} \frac{\frac{1}{\mu_a-\lambda^{(1)}}+}{\frac{1}{\mu_d-\lambda^{(1)}}+}\\ \frac{1}{\mu_d-\lambda}+\frac{1}{\mu_{h}-\lambda}+\\ \frac{1}{\mu_{h}-\lambda}+\frac{1}{\mu_{h}-\lambda^{(1)}} \end{aligned}$	$\begin{array}{c} \displaystyle \frac{1}{\mu_{\alpha}-\lambda^{(1)}}+\\ \displaystyle \frac{1}{\mu_{d}-\lambda}+\frac{1}{\mu_{\sigma}-\lambda}+\\ \displaystyle \frac{1}{\mu_{h}-\lambda^{(1)}}+\\ \displaystyle \frac{1}{\mu_{h}-\lambda^{(1)}}\end{array}$	$\begin{aligned} \frac{1}{\mu_a - \lambda} \\ + \frac{1}{\mu_d - \lambda} \\ + \frac{1}{\mu_e - \lambda^{(1)}} \\ + \frac{1}{\mu_h - \lambda^{(1)}} \\ + \frac{1}{\mu_k - \lambda^{(1)}} \end{aligned}$
S ₅ ⁽¹⁾	$\frac{\frac{1}{\mu_d - \lambda^{(1)}} + \frac{1}{\mu_d + \lambda^{(1)}} + }{\frac{1}{\mu_d - \lambda^{(1)}} + \frac{1}{\mu_f - \lambda} + }{\frac{1}{\mu_k - \lambda}}$	$\begin{array}{c} \displaystyle \frac{1}{\mu_{a}-\lambda^{(1)}}+\\ \displaystyle \frac{1}{\mu_{d}-\lambda^{(1)}}+\frac{1}{\mu_{e}-\lambda}+\\ \displaystyle \frac{1}{\mu_{f}-\lambda}+\frac{1}{\mu_{k}-\lambda^{(1)}} \end{array}$	$\begin{array}{c} \frac{1}{\mu_{\alpha}-\lambda^{(1)}}+\\ \frac{1}{\mu_{d}-\lambda}+\frac{1}{\mu_{d}-\lambda}+\\ \frac{1}{\mu_{f}-\lambda}+\frac{1}{\mu_{k}-\lambda^{(1)}} \end{array}$	$\frac{\frac{1}{\mu_{a}-\lambda^{(1)}} +}{\frac{1}{\mu_{d}-\lambda^{(1)}} +} + \frac{\frac{1}{\mu_{d}-\lambda^{(1)}} +}{\frac{1}{\mu_{f}-\lambda^{(1)}} +} + \frac{1}{\mu_{f}-\lambda^{(1)}}$	$\frac{\frac{1}{\mu_a - \lambda^{(1)}} +}{\frac{1}{\mu_d - \lambda} + \frac{1}{\mu_e - \lambda}} + \frac{1}{\frac{1}{\mu_e - \lambda^{(1)}}} + \frac{1}{\frac{1}{\mu_k - \lambda^{(1)}}}$	$\begin{aligned} \frac{\frac{1}{\mu_{a}-\lambda}+\frac{1}{\mu_{d}-\lambda}}{\frac{1}{\mu_{d}-\lambda(1)}}+\\ \frac{1}{\frac{1}{\mu_{f}-\lambda^{(1)}}}+\\ \frac{1}{\frac{1}{\mu_{k}-\lambda^{(1)}}}\end{aligned}$
S ₆ ⁽¹⁾	$\frac{\frac{1}{\mu_{a}=\lambda}+\frac{1}{\mu_{d}=\lambda^{(1)}}+}{\frac{1}{\mu_{g}=\lambda^{(1)}}+\frac{1}{\mu_{h}=\lambda^{(1)}}+}{\frac{1}{\mu_{k}=\lambda}}$	$\frac{\frac{1}{\mu_a-\lambda^{(1)}}+}{\frac{1}{\mu_d-\lambda^{(1)}}+\frac{1}{\mu_g-\lambda}}+}{\frac{1}{\mu_h-\lambda}+\frac{1}{\mu_k-\lambda^{(1)}}}$	$\frac{\frac{1}{\mu_{a}=\lambda^{(1)}}+}{\frac{1}{\mu_{d}=\lambda}+\frac{1}{\mu_{g}=\lambda}}+\frac{1}{\mu_{h}=\lambda^{(1)}}+\frac{1}{\mu_{k}=\lambda^{(1)}}$	$\frac{\frac{1}{\mu_{a}-\lambda^{(1)}}+}{\frac{1}{\mu_{d}-\lambda^{(1)}}+}$ $\frac{\frac{1}{\mu_{g}-\lambda}}{\frac{1}{\mu_{h}-\lambda}}+$ $\frac{1}{\frac{1}{\mu_{k}-\lambda^{(1)}}}$	$\frac{\frac{1}{\mu_{\alpha}-\lambda^{(1)}}+}{\frac{1}{\mu_{d}-\lambda}+\frac{1}{\mu_{g}-\lambda}}+}{\frac{1}{\frac{1}{\mu_{k}-\lambda^{(1)}}}+}$	$\frac{\frac{1}{\mu_a - \lambda} + \frac{1}{\mu_d - \lambda} +}{\frac{1}{\mu_g - \lambda} +} \\ \frac{\frac{1}{\mu_g - \lambda} +}{\frac{1}{\mu_h - \lambda^{(1)}} +} \\ \frac{1}{\mu_h - \lambda^{(1)}}$

Table 5 : Payoff matrix of player 1 for Case 2.

	c ⁽¹⁾	c ⁽¹⁾	c ⁽¹⁾	e ⁽¹⁾	e ⁽¹⁾	c(1)
S ₁ ⁽²⁾	$\frac{S_1}{\frac{1}{\mu_c - \lambda} + \frac{1}{\mu_f - \lambda}} + \frac{1}{\frac{1}{\mu_b - \lambda^{(2)}}} + \frac{1}{\frac{1}{\mu_g - \lambda^{(2)}}} + \frac{1}{\frac{1}{\mu_g - \lambda^{(2)}}}$	$\frac{5_2}{\frac{1}{\mu_c - \lambda^{(2)}} + \frac{1}{\mu_f - \lambda}} + \frac{1}{\frac{1}{\mu_h - \lambda^{(2)}}} + \frac{1}{\frac{1}{\mu_h - \lambda^{(2)}}} + \frac{1}{\frac{1}{\mu_g - \lambda^{(2)}}}$	$\frac{\Delta_3}{\frac{1}{\mu_c - \lambda^{(2)}} + \frac{1}{\mu_f - \lambda^{(2)}} + \frac{1}{\frac{1}{\mu_f - \lambda} + \frac{1}{\mu_h - \lambda} + \frac{1}{\frac{1}{\mu_g - \lambda^{(2)}}} + \frac{1}{\frac{1}{\mu_g - \lambda^{(2)}}}$	$\begin{array}{c} \frac{2_4}{\mu_c - \lambda^{(2)}} + \\ \frac{1}{\mu_f - \lambda^{(2)}} + \\ \frac{1}{\mu_k - \lambda} + \frac{1}{\mu_h - \lambda} + \\ \frac{1}{\mu_g - \lambda^{(2)}} \end{array}$	$\frac{3\varsigma}{\frac{1}{\mu_c - \lambda^{(2)}} + \frac{1}{\mu_f - \lambda} + \frac{1}{\mu_k - \lambda} + \frac{1}{\frac{1}{\mu_k - \lambda^{(2)}} + \frac{1}{\frac{1}{\mu_k - \lambda^{(2)}}} + \frac{1}{\frac{1}{\mu_k - \lambda^{(2)}}}$	$\frac{\frac{1}{\mu_{c}=\lambda^{(2)}} +}{\frac{1}{\mu_{f}=\lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_{h}=\lambda}} + \frac{1}{\frac{1}{\mu_{h$
S ₂ ⁽²⁾	$\frac{\frac{1}{\mu_c - \lambda} + \frac{1}{\mu_f - \lambda} + \frac{1}{\frac{1}{\mu_c - \lambda^{(2)}} + \frac{1}{\mu_h - \lambda^{(2)}} + \frac{1}{\mu_h - \lambda^{(2)}}$	$\frac{1}{\mu_c - \lambda^{(2)}} + \frac{1}{\mu_f - \lambda} + \frac{1}{\mu_g - \lambda} + \frac{1}{\mu_g - \lambda^{(2)}} + \frac{1}{\mu_g - \lambda^{(2)}}$	$\frac{\frac{1}{\mu_c - \lambda^{(2)}} +}{\frac{1}{\mu_f - \lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_e - \lambda}} + \frac{1}{\mu_h - \lambda} + \frac{1}{\frac{1}{\mu_g - \lambda^{(2)}}} +$	$\frac{\frac{1}{\mu_c - \lambda^{(2)}} +}{\frac{1}{\mu_f - \lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_b - \lambda}} + \frac{1}{\frac{1}{\mu_b - \lambda}} +$	$\frac{1}{\frac{\mu_c - \lambda^{(2)}}{\mu_f - \lambda}} + \frac{1}{\frac{\mu_e - \lambda}{\mu_e - \lambda}} + \frac{1}{\frac{\mu_k - \lambda^{(2)}}{\mu_k - \lambda^{(2)}}} + \frac{1}{\frac{1}{\mu_k - \lambda^{(2)}}}$	$\frac{\frac{1}{\mu_c - \lambda^{(2)}} +}{\frac{1}{\mu_f - \lambda^{(2)}} +} + \frac{\frac{1}{\mu_e - \lambda^{(2)}} +}{\frac{1}{\mu_h - \lambda} + \frac{1}{\mu_g - \lambda}}$
S ₃ ⁽²⁾	$\begin{split} \frac{1}{\mu_c - \lambda} &+ \frac{1}{\mu_f - \lambda} + \\ \frac{1}{\mu_c - \lambda^{(2)}} &+ \\ \frac{1}{\mu_d - \lambda^{(2)}} &+ \frac{1}{\mu_\delta - \lambda^{(2)}} \end{split}$	$\frac{\frac{1}{\mu_c - \lambda^{(2)}} + \frac{1}{\mu_f - \lambda} + }{\frac{1}{\mu_d - \lambda^{(2)}} + \frac{1}{\mu_d - \lambda^{(2)}} + \frac{1}{\mu_g - \lambda^{(2)}}}$	$ \begin{array}{c} \frac{1}{\mu_{c}-\lambda^{(2)}} + \\ \frac{1}{\mu_{f}-\lambda^{(2)}} + \\ \frac{1}{\mu_{g}-\lambda^{(2)}} + \\ \frac{1}{\mu_{g}-\lambda^{(2)}} + \\ \frac{1}{\mu_{g}-\lambda^{(2)}} \end{array} $	$ \begin{array}{c} \frac{1}{\mu_c - \lambda^{(2)}} + \\ \frac{1}{\mu_f - \lambda^{(2)}} + \\ \frac{1}{\mu_e - \lambda} + \\ \frac{1}{\mu_d - \lambda^{(2)}} + \\ \frac{1}{\mu_g - \lambda^{(2)}} \end{array} $	$\begin{array}{c} \displaystyle \frac{1}{\mu_{c}-\lambda^{(2)}}+\\ \displaystyle \frac{1}{\mu_{f}-\lambda}+\frac{1}{\mu_{g}-\lambda}+\\ \displaystyle \frac{1}{\mu_{d}-\lambda^{(2)}}+\\ \displaystyle \frac{1}{\mu_{\delta}-\lambda^{(2)}}\end{array}$	$\begin{array}{c} \displaystyle \frac{1}{\mu_{c} \sim \lambda^{(2)}} + \\ \displaystyle \frac{1}{\mu_{f} \sim \lambda^{(2)}} + \\ \displaystyle \frac{1}{\mu_{e} \sim \lambda^{(2)}} + \\ \displaystyle \frac{1}{\mu_{d} \sim \lambda} + \frac{1}{\mu_{g} \sim \lambda} \end{array}$
S ₄ ⁽²⁾	$\begin{aligned} \frac{\frac{1}{\mu_c-\lambda}+\frac{1}{\mu_b-\lambda}+}{\frac{1}{\mu_c-\lambda^{(2)}}+} \\ \frac{1}{\mu_h-\lambda^{(2)}}+\frac{1}{\mu_g-\lambda^{(2)}}\end{aligned}$	$\frac{\frac{1}{\mu_c-\lambda^{(2)}}+\frac{1}{\mu_b-\lambda}+}{\frac{1}{\mu_c-\lambda}+\frac{1}{\mu_h-\lambda^{(2)}}+}$	$\begin{array}{c} \displaystyle \frac{1}{\mu_c - \dot{\lambda}^{(2)}} + \\ \displaystyle \frac{1}{\mu_b - \dot{\lambda}} + \frac{1}{\mu_e - \dot{\lambda}} + \\ \displaystyle \frac{1}{\mu_h - \dot{\lambda}} + \frac{1}{\mu_g - \dot{\lambda}^{(2)}} \end{array}$	$\begin{array}{c} \displaystyle \frac{1}{\mu_c - \lambda^{(2)}} + \\ \displaystyle \frac{1}{\mu_b - \lambda^{(2)}} + \\ \displaystyle \frac{1}{\mu_e - \lambda} + \frac{1}{\mu_h - \lambda} + \\ \displaystyle \frac{1}{\mu_g - \lambda^{(2)}} \end{array}$	$\frac{\frac{1}{\mu_c - \lambda^{(2)}} +}{\frac{1}{\mu_c - \lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_c - \lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_c - \lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_c - \lambda^{(2)}}}$	$\begin{array}{c} \frac{1}{\mu_c - \lambda^{(2)}} + \\ \frac{1}{\mu_b - \lambda^{(2)}} + \\ \frac{1}{\mu_{e^{-\lambda^{(2)}}}} + \\ \frac{1}{\mu_h - \lambda} + \frac{1}{\mu_g - \lambda} \end{array}$
S ₅ ⁽²⁾	$\frac{\frac{1}{\mu_c - \lambda} + \frac{1}{\mu_b - \lambda} +}{\frac{1}{\mu_c - \lambda^{(2)}} + \frac{1}{\mu_d - \lambda^{(2)}} + \frac{1}{\mu_{\delta} - \lambda^{(2)}}}$	$\frac{\frac{1}{\mu_c-\lambda^{(2)}}+\frac{1}{\mu_b-\lambda}+}{\frac{1}{\mu_c-\lambda}+\frac{1}{\mu_d-\lambda^{(2)}}+}$	$\begin{array}{c} \displaystyle \frac{1}{\mu_c-\lambda^{(2)}} + \\ \displaystyle \frac{1}{\mu_b-\lambda} + \frac{1}{\mu_{d-\lambda}} + \\ \displaystyle \frac{1}{\mu_{d-\lambda^{(2)}}} + \\ \displaystyle \frac{1}{\mu_{g-\lambda^{(2)}}} \end{array}$	$\frac{\frac{1}{\mu_c - \lambda^{(2)}} +}{\frac{1}{\mu_b - \lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_c - \lambda} +} + \frac{1}{\frac{1}{\mu_d - \lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_d - \lambda^{(2)}}}$	$ \begin{array}{c} \frac{1}{\mu_c - \lambda^{(2)}} + \\ \frac{1}{\mu_{z} - \lambda^{(2)}} + \\ \frac{1}{\mu_{z} - \lambda} + \frac{1}{\mu_{d} - \lambda} + \\ \frac{1}{\mu_{\delta} - \lambda^{(2)}} \end{array} $	$\begin{array}{c} \displaystyle \frac{1}{\mu_c - \lambda^{(2)}} + \\ \displaystyle \frac{1}{\mu_b - \lambda^{(2)}} + \\ \displaystyle \frac{1}{\mu_{c} - \lambda^{(2)}} + \\ \displaystyle \frac{1}{\mu_{d} - \lambda} + \frac{1}{\mu_g - \lambda} \end{array}$
S ₆ ⁽²⁾	$\frac{\frac{1}{\mu_c-\lambda}+\frac{1}{\mu_b-\lambda}+}{\frac{1}{\mu_d-\lambda}+\frac{1}{\mu_d-\lambda^{(2)}}+}$	$\frac{\frac{1}{\mu_c-\lambda^{(2)}}+\frac{1}{\mu_b-\lambda}+}{\frac{1}{\mu_d-\lambda}+\frac{1}{\mu_d-\lambda^{(2)}}+}$	$\frac{\frac{1}{\mu_c - \lambda^{(2)}} +}{\frac{1}{\mu_b - \lambda} + \frac{1}{\mu_a - 1} +}{\frac{1}{\mu_d - \lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_g - \lambda^{(2)}}}$	$\frac{\frac{1}{\mu_c - \lambda^{(2)}} +}{\frac{1}{\mu_b - \lambda^{(2)}} +} + \frac{1}{\mu_d - \lambda} + \frac{1}{\mu_d - \lambda} + \frac{1}{\mu_d - \lambda} +$	$\frac{\frac{1}{\mu_c - \lambda^{(2)}} +}{\frac{1}{\mu_b - \lambda} +} + \frac{1}{\frac{1}{\mu_a - \lambda} +} + \frac{1}{\frac{1}{\mu_a - \lambda^{(2)}} +} + \frac{1}{\mu_a - \lambda^{(2)} +$	$\frac{\frac{1}{\mu_{c} - \lambda^{(2)}} +}{\frac{1}{\mu_{b} - \lambda^{(2)}} +} + \frac{1}{\frac{1}{\mu_{d} - \lambda}} + \frac{1}{\frac{1}{\mu_{d} - \lambda}} + \frac{1}{\frac{1}{\mu_{g} - \lambda}} +$

594 Ali M. Almuntaser, R. M. Salem, Essam El-Seidy, H. Nabiel and Emad J. Ebrahim

Table 6 : Payoff matrix of player 2 for Case 2.

Example 3.3. (Payoff matrix with identical service rates) If we suppose that each node in this network have the same service rate ($\mu_i = 4$)for all node i in the grid. Also, the arrival rate for both players given by $\lambda^{(1)} = 2, \lambda^{(2)} = 1$ such that $\lambda < 4$. The payoff matrix for both players in this case is given by:

	$S_1^{(2)}$	$S_2^{(2)}$	$S_{3}^{(2)}$	$S_{4}^{(2)}$	$S_{5}^{(2)}$	$S_{6}^{(2)}$
$S_{1}^{(1)}$	(4,3.67)	(3.5,3)	(3.5,3)	(3.5,3)	(3.5,3)	(3.5,3.67)
$S_{2}^{(1)}$	(3.5,3)	(3.5,3)	(3.5,3)	(3.5,3)	(3.5,3)	(3.5,3)
$S_{3}^{(1)}$	(3.5,3)	(3.5,3)	(3,2.33)	(4,2.33)	(3.5,3)	(3.5,3)
$S_{4}^{(1)}$	(3.5,3)	(3.5,3)	(3.5,3.67)	(3.5,2.33)	(3.5,2.33)	(3.5,3)
$S_{5}^{(1)}$	(3.5,3)	(3.5,3)	(4,3)	(3,2.33)	(3.5,3)	(3.5,3)
$S_{6}^{(1)}$	(3.5,3.67)	(3.5,3)	(3.5,3)	(3.5,3)	(3.5,3)	(4,3.67)

Table 7 : Payoff matrix with identical service rates of Case 2.

Example 3.4. (Payoff matrix with different service rates) If we suppose that each node in this network have the following service rate ($\mu_a = \mu_b = \mu_e = \mu_k = 5, \mu_c = \mu_g = \mu_d = \mu_f = \mu_h = 4$), $\lambda^{(1)} = 2, \lambda^{(2)} = 1$ such that $\lambda < max(\mu_i)$ for all node *i*. The payoff matrix for both players in this case is given by:

Equilibrium solution in queuing game on 3×3 -grid

	$S_1^{(2)}$	$S_2^{(2)}$	$S_{3}^{(2)}$	$S_{4}^{(2)}$	$S_{5}^{(2)}$	$S_{6}^{(2)}$
$S_{1}^{(1)}$	(3.17,3.17)	(3,2.5)	(3,2.5)	(2.67,2.5)	(2.67,2.5)	(2.67,3.17)
$S_{2}^{(1)}$	(2.5,2.92)	(2.5,2.5)	(2.5,2.5)	(2.17,2.5)	(2.17,2.5)	(2.17,2.92)
$S_{3}^{(1)}$	(2.5,2.92)	(2.5,2.5)	(2,1.83)	(2.67,1.83)	(2.17,2.5)	(2.17,2.92)
$S_{4}^{(1)}$	(2.67,2.42)	(2.67,2.42)	(2.67,2.67)	(2.67,2.17)	(2.67,1.75)	(2.67,2.83)
$S_{5}^{(1)}$	(2.67,2.42)	(2.67,2)	(3.17,2)	(2.17,1.75)	(2.67,2.42)	(2.67,2.83)
$S_{6}^{(1)}$	(2.5,2.67)	(3.17,2)	(3.17,2)	(3.17,2.42)	(3.17,2)	(3.33,3.08)

Table 8 : Payoff matrix with different service rates of Case 2.

4. EXISTENCE OF EQUILIBRIUM STRATEGIES

In this section we study the existence of equilibrium of our model. First, we introduce some basic definitions related to existence of Nash equilibrium concept [15, 19, 22].

Definition 4.1. A strategy $S^{(j)}$ for player j which hold the inequality

$$\Pi^{(j)}(s^j, s_{-j}) \le \Pi^{(j)}(\bar{s})$$

for all s_{-j} , \bar{s} is called dominant strategy. The payoff of a dominant strategy for player j is the lowest average sojourn time no matter the strategies selected by the other player.

Definition 4.2. The best-response strategy of player j against the strategies s_{-j} of other player is given by the set:

$$(B)^{(j)}(s_{-j}) = \{\hat{s}^{(j)} \in S^j | \pi^{(j)}(\hat{s}^{(j)}, s_{-j}) \le \pi^{(j)}(\bar{s}^{(j)}, s_{-j}), \ \forall \ \bar{s}^{(j)} \}.$$

Definition 4.3. A strategy profile S is a pure-strategy Nash equilibrium (PNE for short) if each players strategy is a best-response to the strategies of other players $(i.e.S^{(j)} \in B^{(j)}(s_{-j}), \forall j)$.

The following algorithm is used to find the best-response strategy.

Algorithm: Best-response algorithm

- (1) If S is a Nash equilibrium then stop. Else, go to Step 2 with S.
- (2) Select a player j such that $s^{(j)}$ is the best response to s_{-j} . Update $s^{(j)}$ to a best response of j to s_{-j} .
- (3) If S is a Nash equilibrium then stop. Else, go to Step 2 with S.

Definition 4.4. The set of feasible strategies for each player is the set of all paths that begin at a fixed entering node on one side of the grid and conclude at a fixed ending node on the other side of this grid. Furthermore, this set

only contain the paths of minimal length, that is, paths with the fewest nodes necessary to transit from the entering node to the ending node. In this game, each player's purpose is to reduce its consumers' time in this network.

In the first case showed in Figure 1, both players can share the entering and ending nodes, each player must pass through five nodes, and it is unclear if there is an equilibrium or which path will be selected. In the second case showed in Figure 2, the players can't share the node of entering and the node of ending but they can share the intermediate nodes. In this case also it is unclear if there is an equilibrium or which path will be selected. Also, if the players want to share the intermediate nodes in this grid or not to share. To answer to these questions, we introduce the following theorems:

Theorem 4.5. A queuing game on a 3×3 -grid played by two players as shown in Figure 1 with service rates μ_i such that

$$\lambda^{(1)} + \lambda^{(2)} < \min\{\mu_i\}$$

has a pure-strategy Nash equilibrium.

Proof. Consider the queuing game shown in Figure 1 , player 1 must make a decision to select a strategy from the set $\{S_1^{(1)}, S_2^{(1)}, S_3^{(1)}, S_4^{(1)}, S_5^{(1)}, S_6^{(1)}\}$ which given in Case 1. Player 2 have the same choices and the rate of arrivals for both players are $\lambda^{(1)}, \lambda^{(2)}$ respectively. Let $\Pi^{(j)}(s_i^{(1)}, s_i^{(2)})$ denote the payoff function of player j when this player choose the path i, where $i = 1, 2, \cdots, 6$. Also let $B^{(j)}(s_i^{(m)})$ denote to the player j best response to the path i of player $m \neq j$.

Depending on the Algorithm, the Table 1 which represent the payoff matrix of player 1, Table 5 and Table 6 which represent a numerical examples for this case, we can summarize the best response strategies of player 1 against the strategies $s_i^{(2)}$ of player 2 in the following table:

i	<i>s</i> _i ⁽²⁾		$B^{(1)}(s_i^{(2)})$
		Identical services rate	Different services rate
1	s1 ⁽²⁾	$s_4^{(1)}, s_6^{(1)}$	s4 ⁽¹⁾
2	s2 ⁽²⁾	s ₆ ⁽¹⁾	s ₆ ⁽¹⁾
3	s3 ⁽²⁾	$s_1^{(1)}, s_5^{(1)}, s_6^{(1)}$	$s_1^{(1)}, s_5^{(1)}$
4	s4 ⁽²⁾	s1 ⁽¹⁾	s1 ⁽¹⁾
5	s5 ⁽²⁾	$s_1^{(1)}, s_3^{(1)}, s_6^{(1)}$	$s_1^{(1)}, s_3^{(1)}$
6	s ₆ ⁽²⁾	$s_1^{(1)}, s_2^{(1)}$	s ₂ ⁽¹⁾

Table 9: A player 1s best response to the strategies $s_i^{(2)}$.

Using the same approach, the best response strategies of player 2 to the strategies $s_i^{(1)}$ of player 1 in the following table:

Equilibrium	solution	in	queuing	game	on	3	×	3-grid
Equinorium	borution	111	queums	Same	on	0	\sim	0 griu

i	<i>s</i> ⁽¹⁾		$B^{(2)}(s_i^{(1)})$
		Identical services rate	Different services rate
1	s1 ⁽¹⁾	$s_4^{(2)}, s_6^{(2)}$	$s_4^{(2)}, s_6^{(2)}$
2	s2 ⁽¹⁾	s ₆ ⁽²⁾	s ₆ ⁽²⁾
3	s3 ⁽¹⁾	$s_1^{(2)}, s_5^{(2)}, s_6^{(2)}$	$s_1^{(2)}, s_5^{(2)}$
4	$s_4^{(1)}$	s1 ⁽²⁾	s1 ⁽²⁾
5	s5 ⁽¹⁾	$s_1^{(2)}, s_3^{(2)}, s_6^{(2)}$	s ₃ ⁽²⁾
6	s ₆ ⁽¹⁾	$s_1^{(2)}, s_2^{(2)}$	$s_1^{(2)}, s_2^{(2)}$

Table 10: A player 2s best response to the strategies $s_i^{(2)}$.

By comparing Table 9 with Table 10, depending on the definition of Nash's equilibrium we see that this game has a PNE points in two cases. In case of identical, the PNE strategies are : $(s_4^{(1)}, s_1^{(2)}), (s_6^{(1)}, s_1^{(2)}), (s_6^{(1)}, s_2^{(2)}), (s_5^{(1)}, s_3^{(2)}), (s_2^{(1)}, s_6^{(2)})$ and $(s_3^{(1)}, s_5^{(2)})$. In case of different service rates, the PNE strategies are: $(s_6^{(1)}, s_2^{(2)}), (s_2^{(1)}, s_6^{(2)}), (s_5^{(1)}, s_3^{(2)}), (s_1^{(1)}, s_4^{(2)})$ and $(s_3^{(1)}, s_5^{(2)})$.

Theorem 4.6. A queuing game on a 3×3 -grid played by two players as shown in Figure 2 with service rates μ_i such that

$$\lambda^{(1)} + \lambda^{(2)} < \min\{\mu_i\}$$

has a pure-strategy Nash equilibrium.

Proof. Using the same approach which used to prove the Theorem 4.5. In this case the both players have a different entering and ending node in their strategies which listed in Case 2. Table 11 and table 12 list all best response strategies for both players 1 and 2.

i	<i>s</i> ⁽²⁾	B ⁽¹⁾	$B^{(1)}(s_i^{(2)})$					
		Identical services rate	Different services rate					
1	s1 ⁽²⁾	$s_2^{(1)}, s_3^{(1)}, s_4^{(1)}, s_5^{(1)}$	$s_2^{(1)}, s_3^{(1)}, s_6^{(1)}$					
2	s2 ⁽²⁾	$s_1^{(1)}, s_2^{(1)}, s_3^{(1)}, s_4^{(1)}, s_5^{(1)}, s_6^{(1)}$	$s_2^{(1)}, s_3^{(1)}$					
3	s3 ⁽²⁾	s ₃ ⁽¹⁾	s3 ⁽¹⁾					
4	s4 ⁽²⁾	$s_3^{(1)}, s_4^{(1)}, s_5^{(1)}$	$s_2^{(1)}, s_5^{(1)}$					
5	s5 ⁽²⁾	$s_4^{(1)}$	$s_2^{(1)}, s_3^{(1)}$					
6	s ₆ ⁽²⁾	$s_2^{(1)}, s_3^{(1)}, s_4^{(1)}, s_5^{(1)}$	s ₂ ⁽¹⁾					

Table 11: A player 1s best response to the strategies $s_i^{(2)}$.

i	<i>s</i> _i ⁽¹⁾	$B^{(2)}(s_i^{(1)})$		
		Identical services rate	Different services rate	
1	s1 ⁽¹⁾	$s_2^{(2)}, s_3^{(2)}s_4^{(2)}, s_5^{(2)}$	$s_2^{(2)}, s_3^{(2)}s_4^{(2)}, s_5^{(2)}$	
2	s2 ⁽¹⁾	$s_1^{(2)}, s_2^{(2)}, s_3^{(2)}, s_4^{(2)}, s_5^{(2)}, s_6^{(2)}$	$s_2^{(2)}, s_3^{(2)}s_4^{(2)}, s_5^{(2)}$	
3	s3 ⁽¹⁾	$s_3^{(2)}, s_4^{(2)}$	$s_3^{(2)}, s_4^{(2)}$	
4	s4 ⁽¹⁾	$s_4^{(2)}, s_5^{(2)}$	s5 ⁽²⁾	
5	s5 ⁽¹⁾	s4 ⁽²⁾	s4 ⁽²⁾	
6	S6 ⁽¹⁾	$S_2^{(2)}, S_3^{(2)}, S_4^{(2)}, S_5^{(2)}$	$S_2^{(2)}, S_3^{(2)}, S_5^{(2)}$	

Table 12: A player 2s best response to the strategies $s_i^{(1)}$.

By comparing Table 11 with Table 12, depending on the definition of Nash's equilibrium, we see that this game has a PNE points in two cases. In case of identical service rates, the PNE strategies are $(s_2^{(1)}, s_1^{(2)}), (s_1^{(1)}, s_2^{(2)}), (s_2^{(1)}, s_2^{(2)}), (s_6^{(1)}, s_2^{(2)}), (s_3^{(1)}, s_3^{(2)}), (s_4^{(1)}, s_4^{(2)}), (s_5^{(1)}, s_4^{(2)}), (s_4^{(1)}, s_5^{(2)})$ and $(s_2^{(1)}, s_6^{(2)})$. In case of different service rates, the PNE strategies are: $(s_2^{(1)}, s_2^{(2)}), (s_2^{(1)}, s_4^{(2)}), (s_2^{(1)}, s_5^{(2)}), (s_3^{(1)}, s_3^{(2)})$ and $(s_5^{(1)}, s_4^{(2)})$.

5. Existence of PNE for equivalence arrival and service rates

In this case we can assume that there is a relation between the arrival and the service rates. We can assume that all nodes have just two service rates, either μ or $\alpha\mu$ where $\alpha > 1$, and for the relation between the arrival rates we can assume that $\lambda^{(1)} = \beta \lambda^{(2)}$ where $\beta < 1$.

Using a numerical calculation, we can distinguish the conditions for α , β for this game to have a PNE. For that we substitute different values for α and β in payoff matrix of Case 2 for both players (Tables 5,6), we get the following payoff matrices:

Table (13): $\mu_a = \mu_b = \mu_e = \mu_k = 5$, $\mu_c = \mu_g = \mu_d = \mu_f = \mu_h = 4$, $\lambda^{(1)} = 0.5$, $\lambda^{(2)} = 2$,									
$\alpha = 1.25, \beta = 0.25$									
	S ₁ ⁽²⁾	$S_{2}^{(2)}$	S ₃ ⁽²⁾	S ⁽²⁾ ₄	S ₅ ⁽²⁾	S ₆ ⁽²⁾			
S ₁ ⁽¹⁾	(2.18,2.73)	(2,2.67)	(2,2.67)	(1.80,2.40)	(1.80,2.40)	(1.80,2.47)			
S2(1)	(1.73,2.57)	(1.73,2.57)	(1.73,2.57)	(1.53,2.40)	(1.53,2.30)	(1.53,2.30)			
S ₃ ⁽¹⁾	(1.73,2.57)	(1.73,2.57)	(1.35,2.40)	(1.91,2.47)	(1.53,2.30)	(1.53,2.30)			
S4(1)	(1.80,2.57)	(1.80,2.57)	(1.80,2.40)	(1.80,2.33)	(1.80,2.23)	(1.80,2.40)			
S ₅ ⁽¹⁾	(1.80,2.57)	(1.80,2.57)	(2.18,2.57)	(1.42,2.23)	(1.80,2.40)	(1.80,2.30)			
S ₆ ⁽¹⁾	(1.66,2.73)	(2.06,2.73)	(2.06,2.67)	(2.06,2.50)	(2.06,2.50)	(2.24,2.57)			

In this case, this game has the following PNE strategies: $(s_2^{(1)}, s_5^{(2)}), (s_2^{(1)}, s_6^{(2)}), (s_3^{(1)}, s_5^{(2)}), (s_3^{(1)}, s_6^{(2)})$ and $(s_5^{(1)}, s_4^{(2)})$.

Table (14): $\mu_a = \mu_b = \mu_e = \mu_k = 7$, $\mu_c = \mu_g = \mu_d = \mu_f = \mu_h = 4$, $\lambda^{(1)} = 0.5$, $\lambda^{(2)} = 2$, $\alpha = 1.75$, $\beta = 0.25$							
		S ₁ ⁽²⁾	S ⁽²⁾ ₂	S ₃ ⁽²⁾	S4 ⁽²⁾	S ₅ ⁽²⁾	S ₆ ⁽²⁾
	S ₁ ⁽¹⁾	(1.86,2.56)	(1.79,2.53)	(1.79,2.53)	(1.48,2.09)	(1.48,2.09)	(1.48,2.11)
	S2(1)	(1.35,2.39)	(1.35,2.39)	(1.35,2.39)	(1.04,2.09)	(1.04,1.94)	(1.04,1.94)
	S ₃ ⁽¹⁾	(1.35,2.39)	(1.35,2.39)	(0.97,2.22)	(1.42,2.11)	(1.04,1.94)	(1.04,1.94)
	S4(1)	(1.48,2.39)	(1.48,2.39)	(1.48,2.22)	(1.48,2.07)	(1.48,1.92)	(1.48,2.09)
	S ₅ ⁽¹⁾	(1.48,2.39)	(1.48,2.39)	(1.86,2.39)	(1.10,1.92)	(1.48,2.09)	(1.48,1.94)
	S ₆ ⁽¹⁾	(1.30,2.56)	(1.93,2.53)	(1.93,2.53)	(1.93,2.23)	(1.93,2.23)	(2,2.26)

In this case, there is no dominant strategies for both players, but there are four PNEs for the given game which are $(s_2^{(1)}, s_5^{(2)}), (s_2^{(1)}, s_6^{(2)}), (s_3^{(1)}, s_5^{(2)})$ and

 $(s_3^{(1)}, s_6^{(2)})$. From the above calculations in Table 13 and Table 14, we notice that the strategies which a best response will intersect in just at most one node with the strategies of other player, then we must get the following inequality:

$$\frac{1}{\mu-\lambda^{(2)}} < \frac{1}{\alpha\mu-\beta\lambda^{(2)}}.$$

This inequality can be written as $\alpha \mu - \beta \lambda^{(2)} < \mu - \lambda^{(2)}$, which means that $\beta \lambda^{(2)} > (\alpha - 1)\mu$. Also, to guarantee that the players can share a node of least service rate μ , the condition $(\beta + 1)\lambda^{(2)} < \mu$ must hold. From these inequalities, and since $\beta < 1$, then α must hold the condition $1 < \alpha < 1.5$.

6. CONCLUSION

In this paper, we study the existence of equilibrium play in a specific class of queuing game played on a 3×3 -grid as a non-cooperative 2-players game. In this game, both players compete to select, from a set of paths available for each player, just one path to use for their customers and exit from the grid after getting the required service as soon as possible. We have shown the existence of PNE for two cases. First case assumed that both players can share the same entering and ending nodes. Second case assumed that both players cannot share the entering and ending nodes but they can share the intermediate nodes. We discussed and analyzed the existence of PNE for two subclasses of games on 3×3 -grid:

(i) A game of 2 players with identical service rates and different arrival rates,

(ii) A game of 2 players with different service rates and different arrival rates.

In both cases, the payoff matrices are computed and we list the best response strategies for both players. We have illustrated via some theorems and different examples that these games have a pure-strategies Nash equilibrium.

In the case that there is a relationship between the service rates of all nodes in this grid such that the service rates are either μ or $\alpha\mu$, and also there is a relationship between the arrival rates such that $\lambda^{(1)} = \beta \lambda^{(2)}$, we found that the conditions on these constants α and β for this game to have a PNE are $1 < \alpha < 1.5$ and $0 < \beta < 1$.

References

- M.T. Alabdullah, E. El-Seidy, E.M. Roushdy and M.M.A. Hasan, Innovative Stochastic Finite Difference Methods in Mean Field Games: A Wiener Process Approach, Nonlinear Funct. Anal. Appl., 29(4) (2024), 1019–1029.
- [2] S.H. Alkharaz, E. El-Seidy, E.M. Roushdy, and M.M.A. Hasan, Optimal Strategies in Bioeconomic Differential Games: Insights from Chebyshev Tau Method, Nonlinear Funct. Anal. Appl., 29(2) (2024), 527–543.

- [3] E. Altman, T. Boulogne, R. El-Azouzi, T. Jiménez and L. Wynter, A survey on networking games in telecommunications, Comput. Operations Research, 33(2) (2006), 286-311.
- [4] T. Basar and G.J. Olsder, Dynamic noncooperative game theory (2nd ed.), SIAM Classics, 1999.
- [5] V.J. Chirkova, Symmetric Nash Equilibrium Arrivals to Queuing System, Contributions to Game Theory and Management, 16 (2023), 53–60.
- [6] J. Chirkova, V. Mazalov and E. Morozov, Equilibrium in a Queueing System with Retrials, Mathematics, 10(3) (2022):428.
- [7] J.E. Cohen and F.P. Kelly, A paradox of congestion in a queuing network, J. Appl. Proba., 27(3) (1990), 730-734.
- [8] L.G. Debo, C. Parlour and U. Rajan, Signaling quality via queues, Management Sci., 58 (2012), 876-891.
- [9] P. Guo and R. Hassin, Strategic behavior and social optimization in Markovian vacation queues, Operations Research, 59 (2011), 986-997.
- [10] R. Hassin, Rational queueing, Chapman and Hall/CRC, 2020.
- [11] R. Hassin and M. Haviv, To queue or not to queue: Equilibrium behavior in queueing systems, Springer, 2003.
- [12] F.P. Kelly, Reversibility and Stochastic Networks, Wiley, Chichester, 1979.
- [13] C.M. Laan, J. Timmer and R.J. Boucherie, Non-cooperative queueing games on a network of single server queues, Queueing Syst., 97 (2021), 279-301.
- [14] C.M. Laan, T. Van der Mijden, A.I. Barros, R.J. Boucherie and H. Monsuur, An interdiction game on a queueing network with multiple intruders, Euro. J. Opera. Research, 260(3) (2017), 1069-1080.
- [15] X. Li, J. Wang and F. Zhang, New results on equilibrium balking strategies in the singleserver queue with breakdowns and repairs, Appl. Math. Comput. 241 (2014), 380-388.
- [16] P. Naor, The regulation of queue size by levying tolls, Econometrica, 37 (1969), 15-24.
- [17] J.F. Nash, Non-cooperative games, Ann. Math., 54(2) (1951), 286-295.
- [18] J.F. Nash, Non-cooperative games, PhD thesis, Princeton University, 1950.
- [19] J.B. Rosen, Existence and uniqueness of equilibrium points for concave n-person games, Econometrica: J. Econo. Soc., 33(3) (1965), 520-534.
- [20] R.W. Rosenthal, A class of games possessing pure-strategy Nash equilibria, Int. J. Game Theory, 2(1) (1973), 65-67.
- [21] J. Wang, S. Cui and Z. Wang, Equilibrium strategies in M/M/1 priority queues with balking, Production and Opera. Manag., 28(1) (2019), 43-62.
- [22] J. Wang and F. Zhang, Equilibrium analysis of the observable queues with balking and delayed repairs, Appl. Math. Comput., 218(6) (2011), 2716-2729.
- [23] L. Xia and Q.S. Jia, Game theoretical control of service rates in closed Jackson networks, In Proc. the 25th Chinese control and decision conference (CCDC2013), May 2527, 2013. Guiyang, China.